

# IFF #

# find value :-  $\tan^{-1}(1) + \cos^{-1}\left(-\frac{1}{2}\right) + \sin^{-1}\left(\frac{1}{2}\right)$

$$\tan^{-1}\left(\tan \frac{\pi}{4}\right) + \cos^{-1}\left(-\frac{1}{2}\right) + \sin^{-1}\left(\sin \frac{\pi}{6}\right)$$

$$\frac{\pi}{4} + \frac{\pi}{6} + \frac{2\pi}{3} = \frac{3\pi + 2\pi + 8\pi}{12} = \frac{13\pi}{12} \text{ } \checkmark$$

$$\because \cos^{-1}\left(-\frac{1}{2}\right) = y \Rightarrow \cos y = -\frac{1}{2} = -\cos \frac{\pi}{3} = \cos\left(\pi - \frac{\pi}{3}\right) = \cos \frac{2\pi}{3}$$

$$y = \frac{2\pi}{3}$$

$$\therefore \cos^{-1}\left(\frac{1}{2}\right) + \sin^{-1}\left(\frac{1}{2}\right)$$

Q.  $\tan^{-1}(\sqrt{3}) - \sec^{-1}(-2) \rightarrow$  let  $\sec^{-1}(-2) = y$

Sol<sup>n</sup> :-  $\tan^{-1}\left(\tan \frac{\pi}{3}\right)$

$$\frac{\pi}{3} - \frac{2\pi}{3} = -\frac{\pi}{3} \text{ } \checkmark$$

$$\sec y = -2 = -\sec \frac{\pi}{3} = \sec\left(\pi - \frac{\pi}{3}\right)$$

$$\sec y = \sec \frac{2\pi}{3} \Rightarrow y = \frac{2\pi}{3}$$

Prove :-

# IFF #

Q.  $3\cos^{-1}x = \cos^{-1}(4x^3 - 3x)$

Let from RHS  $\rightarrow \cos^{-1}[4x^3 - 3x]$

Let  $x = \cos \theta \rightarrow \cos^{-1}[4\cos^3 \theta - 3\cos \theta] \Rightarrow \cos^{-1}[\cos 3\theta] = 3\theta$

$[3\theta = \cos^{-1}x] \Rightarrow 3 \times \cos^{-1}x = \text{LHS}$  H.P.

$$\begin{cases} 4\cos^3 \theta - 3\cos \theta = \cos 3\theta \\ 3\sin \theta - 4\sin^3 \theta = \sin 3\theta \end{cases}$$

Q. h.w  $\rightarrow 3\sin^{-1}x = \sin^{-1}[3x - 4x^3]$

Ques:  $\tan^{-1} \frac{2}{11} + \tan^{-1} \frac{7}{24} = \tan^{-1} \frac{1}{2}$

$$\tan^{-1} A + \tan^{-1} B = \tan^{-1} \left( \frac{A+B}{1-AB} \right)$$

$\rightarrow$  LHS  $\rightarrow \tan^{-1} \left( \frac{2}{11} \right) + \tan^{-1} \left( \frac{7}{24} \right)$

$$\Rightarrow \tan^{-1} \left[ \frac{\frac{2}{11} + \frac{7}{24}}{1 - \frac{2}{11} \times \frac{7}{24}} \right] \Rightarrow \tan^{-1} \left[ \frac{\frac{48+77}{11 \times 24}}{\frac{11 \times 24 - 14}{11 \times 24}} \right] = \tan^{-1} \left[ \frac{125}{250} \right] = \tan^{-1} \left( \frac{1}{2} \right) = \text{RHS}$$

H.P.

# I I F #

Q.  $2 \tan^{-1} \frac{1}{2} + \tan^{-1} \frac{1}{7} = \tan^{-1} \frac{13}{17} \Rightarrow \therefore 2 \tan^{-1} x = \tan^{-1} \frac{2x}{1-x^2}, \therefore 2 \tan^{-1} \left(\frac{1}{2}\right) = \tan^{-1} \frac{2 \times 1}{1 - \left(\frac{1}{2}\right)^2}$

So!  $\tan^{-1} \left(\frac{1}{3}\right) + \tan^{-1} \left(\frac{1}{7}\right)$   
 $\Rightarrow \tan^{-1} \left[ \frac{\frac{1}{3} + \frac{1}{7}}{1 - \frac{1}{3} \times \frac{1}{7}} \right]$

$\cos 2\theta = 1 - 2\sin^2 \theta$   
 $2\sin^2 \theta = 1 - \cos 2\theta$

$= \tan^{-1} \left[ \frac{1}{\frac{3}{4}} \right]$   
 $= \tan^{-1} \left[ \frac{4}{3} \right]$

Q. write the fun. in simple form:

$\left[ \frac{\tan^{-1} \sqrt{1+x^2} - 1}{x} \right] \Rightarrow$  put  $x = \tan \theta \rightarrow \left[ \theta = \tan^{-1} x \right]$

$\Rightarrow \tan^{-1} \left[ \frac{\sqrt{1+\tan^2 \theta} - 1}{\tan \theta} \right] = \tan^{-1} \left[ \frac{\sec \theta - 1}{\tan \theta} \right] = \tan^{-1} \left[ \frac{1 - \cos \theta}{\sin \theta} \right] = \tan^{-1} \left[ \frac{1 - \cos \theta}{\frac{\sin \theta}{\cos \theta}} \right]$

$\tan^{-1} \left[ \frac{1 - \cos \theta}{\sin \theta} \right] \Rightarrow \tan^{-1} \left[ \frac{2 \sin^2 \frac{\theta}{2}}{2 \sin \frac{\theta}{2} \cos \frac{\theta}{2}} \right] \Rightarrow \tan^{-1} \left[ \frac{\sin \frac{\theta}{2}}{\cos \frac{\theta}{2}} \right] = \frac{\theta}{2} = \frac{1}{2} \tan^{-1} x$

# IITF #

Q. write the simplest form:-

$$\tan^{-1} \left( \sqrt{\frac{1-\cos x}{1+\cos x}} \right) \quad (1+x^2)$$

$$\left\{ \tan^{-1} \left[ \frac{A-B}{1+AB} \right] = \tan^{-1} A - \tan^{-1} B \right\}$$

Q.  $\tan^{-1} \left( \frac{\cos x - \sin x}{\cos x + \sin x} \right)$

$$\Rightarrow \tan^{-1} \left[ \frac{\frac{\cos x - \sin x}{\cos x}}{\frac{\cos x + \sin x}{\cos x}} \right] = \tan^{-1} \left[ \frac{1 - \tan x}{1 + \tan x} \right] = \tan^{-1}(1) - \tan^{-1}(\tan x)$$

$\begin{matrix} \uparrow A & \uparrow B \\ \frac{1 - \tan x}{1 + \tan x} \\ \downarrow A \cdot B \end{matrix}$

$$= \frac{\pi}{4} - x$$

Q.  $\tan^{-1} \left( \frac{x}{\sqrt{q^2 - x^2}} \right)$  let  $x = q \sin \theta \rightarrow \sin \theta = \frac{x}{q} \Rightarrow \theta = \sin^{-1} \left( \frac{x}{q} \right)$

$$\Rightarrow \tan^{-1} \left[ \frac{q \sin \theta}{\sqrt{q^2 - q^2 \sin^2 \theta}} \right] = \tan^{-1} \left[ \frac{q \sin \theta}{q \cdot \sqrt{\cos^2 \theta}} \right] = \tan^{-1} \left[ \frac{q \sin \theta}{q \cos \theta} \right] \Rightarrow \tan^{-1} \tan \theta$$

$$\Rightarrow \theta = \sin^{-1} \frac{x}{q} \quad \checkmark$$

H.W Q.  $\rightarrow \tan^{-1} \left( \frac{1}{\sqrt{x^2-1}} \right) \# \underline{\text{IITF}} \#$

$\tan^2 \theta = \sec^2 \theta - 1$

$\cot^2 \theta = \underline{\csc^2 \theta - 1}$

Let  $x = \csc \theta$

$\csc^2 \theta = \frac{1}{\sin^2 \theta}$   
 $\cot^2 \theta = \left( \frac{\cos \theta}{\sin \theta} \right)^2$

$\left\{ \frac{3 \tan \theta - \tan^3 \theta}{1 - 3 \tan^2 \theta} = \tan 3\theta \right\}$

Q.  $\tan^{-1} \left( \frac{3x^2 - x^3}{x^3 - 3x^2} \right)$

Let  $\Rightarrow x = \csc \theta$

$\tan^{-1} \left( \frac{3 \cdot \csc^2 \theta - \csc^3 \theta}{\csc^3 \theta - 3 \csc^2 \theta} \right) = \tan^{-1} \left( \frac{3 \tan \theta - \tan^3 \theta}{1 - 3 \tan^2 \theta} \right) = 3\theta = 3 \times \tan^{-1} \frac{1}{3}$

Q.  $\cot \left[ \tan^{-1} 9 + \cot^{-1} 9 \right] = \cot \frac{\pi}{2} = 0$

Ques:  $\tan^{-1} \left( 2 \cos \left( 2 \sin^{-1} \frac{1}{2} \right) \right) \Rightarrow 2 \sin^{-1} \left( \frac{1}{2} \right) = 2 \sin^{-1} \left( \sin \frac{\pi}{6} \right) = \frac{\pi}{3}$

$\tan^{-1} \left( 2 \cos \frac{\pi}{3} \right) = \tan^{-1} \left( 2 \cdot \frac{1}{2} \right)$

$= \tan^{-1}(1) = \tan^{-1} \left( \tan \frac{\pi}{4} \right) = \frac{\pi}{4}$